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Chapter 7 Review
Multiple Choice
A 1. Iftwo polygons are SIMILAR, then the corresponding sides must be
@ proportional €. paralfel -
b. congruent d.  similar
215 | 7s g
12 2. This drawing Hlustrates . i n ] g8 ﬂ
2:63 £ 2’ S A 3
27.5 10
a.  AA Similarity c. 888 Similarity
b—S8AS-Congruence— . SAS Similarity A¥ 5E o
D 3. Inthe figure below, AABC ~ AL' B¢, -
Which statement is true of the transformation from AABRC to AL' B ' T :
Xafh
a. The.measures-of-all-corresponding angles-change-by-a-scale-factor.of2. T
1 -4
‘-Phe-measures~of»aH»(;orrespondingvangles-change-by«-a»sealeﬂfactmvofkfd.a AN T
¢.  The lengths of all corresponding sides change by a scate factor of 2. _ ‘ _ e _}
i N 5
The lengths of all corresponding sides change by a scale factor of 5 9 }\ S ul l (’ i’
Redyetion
P§ 4, Sean has two circular flower beds, as shown beiow.
How can the larger flower bed be transformed to show that the twe flower beds are similar in shape?
(@ translations {x,)) —» (x~7,»); , Iy I_l woit = 1 metor I
dilation with center (3, 5) and seale factm if“i’” N
ranslatlon (xy] —}( ] b bbb i b sl ] (}U}ﬁ
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E) 5. At the same time of day, a man who is 76 inches tall casts a 57-inch shadow and his son casts a 24-inch

shadow. What is the height of the man's son? (Figures may not be drawn to scale.) < \NV\\\M
a 33in. Cb. 32in) c. 81in. d. 108 in. R

s t ]fé ?,L% - S.,I }( 7_([?!].

32 =¥
C 6. The ratio of the length of the legs of the smaller triangle to that of the larger triangle is 4 ; 5, ¥ the length
~==77  of'the hypotenuse of the larger triangle is 2 feet, what is the length of the hypotenuse of the small triangle to

the ngarest tenth 6f a foot? —

a O01f G LA™

b. 0.6H I d 25f

Swatgr 1 - A
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ovoey 2 2. (o) = &R
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B=oxX  X=1LL £
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C/ 7. The triangles in the diagram below apesimilar. Which is the distance across Clarence Lake? (The figure may

not be drawn to scale.) o

a. fkm b. 38 km ( e 35 km 3 d. 33 km

5 s 3= 108) o
DN . )
“ff{ !D;;j Main 8t 3 k.
2 - 15 km. \I ?gan
Short Answer K= 3 5

8. Draw the image of the givei(5ﬁglti‘e after a dilation with center O and the a scale factor of 2.
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9. Which triangle below is not similar to any of the others?

A Y ° '/,,M—_.,
Yo (2

10. Determine u;hether the triangles are similat, If the are, write a similarity statement, 0 ¢
LCEB=LAED  Simitor ionf he Retl f
= /\‘; N
LB F LD . ABEC ~ ADER. ¢
1. Determine whether the triangles atc similar. Explain your reasoning, A=
, 0 1 24
211 imilgy by 308 N5

-

{ ’“‘f (d s -“ 5 o 0’7 § ‘) v
015 = 015 M 8ided Longins ave
Pidporisnal
12, Tell whether each pair of ﬁ‘iallgles is similar. Explain y(f)ur reasoning,
Triandles are Simlor 304110 = 140 .
o Jl%ts are Similoy 3 b = 4o
by i

13. Standing next to each other, a woman casts a 41;‘}:&‘;011“811&(105\' and her 40-inch-tall son casts a 24-inch
shadow. What is the height of the woman to th¢ nearest inch? .
2 2= Ho (Ul
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14. A photo needs to be enlarged from an original }Ym}_zﬁ@g%ﬂﬂt}ches and a width of3 Hches to a size ~~
where the new width is 15 inches. What is the new length? What is the scale ffﬁ‘t‘(j‘???ﬁ“’" P -
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16, In the diagram, PQRS WXYZ, find the values of x, y, and z. a B w12 X
(\ (jy ”5’ ”(ﬁ ) 1o, Y ks
CT“E“‘“ A X 109
>l(1 }ﬁ”‘% ‘i%i “:%-2; % _gfiém P 65 =z 7 y

17, Explain Why the tl 1angles are similar and write a similarity statement,

LG & ey We dvonales are
LWE LY Snwtay ‘\ﬁsj AR

ACHT ~ b LKT

() . p

18. Find the length of PQ. ¥ Q Q ‘
RS=38T=4Q8=10 4 3{& \Qﬁ

P() Q“ lL\ Mp f"; ht :Y' W
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L2 2 14
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19, Determine whether the triangles are similar. If they are, writc a sitnilarity statement.
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20. Karen wanted to ineasure the height of her school's flagpole. She placed a mirror on the ground 46 feet from
the flagpole, and then walked backwards until she was able to see the top of the pole in the miror, Her oyes
were 5 feet above the ground and-she-was-13 feet from the mirror. Using similar triangles, find the height of
the flagpole to the nearesthundredth of a fodt, (Figures may not be drawn to scale.)
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46 ft T
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21, Find the length of 45, Sivila frer
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22. Moody wants to find the height of the tallest building in his city. He stands 460 feet away from the building.
There-is a tree 42 feet in front of him, which he knows is 23 fect tall. How tall is the building? (Round {o the
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